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1. 'X�Y}ñ, v/bN (0, 1)5µ��O

(i) 2X�5µ�
(ii) 1 + 2X + 3Y�5µ�
(iii) P (X2 + Y 2 < 1)�
(iv) P (X < λY ), Í�λ ∈ R
×ðó�

2. 'X,Y�Ð)p.d.f.
f(x, y) = ye−xy−y, x, y > 0�

(i) �l�X�YÎÍ}ñ�
(ii) �OfY |X(y|x), x > 0�
(iii) �OE(Y |x)�
(iv) �OV ar(Y |x)�
(v) �OP (XY > 1)�

3. 'X,Y�Ð)p.d.f.
f(x, y) = 2e−x−y, 0 < x < y < ∞�
(i) ��Jf@
×p.d.f.�
(ii) �OP (Y < 2X)�
(iii) �OP (X + Y < 2)�
(iv) �OX,Y�Ð)�-ÒÐóM(s, t), ¬��s, t�P��

4. 'X�Y}ñ, v5½bP (λ)CP (µ)5µ�

(i) ���X + Y�5µ�
(ii) �O��X +Y = n�ì, n ≥ 1, X�f�p.d.f., ¬¼�h
£×ð�5µ,

¢ó
¢�
(iii) �OE(X|X + Y = n)�
(iv) �OV ar(X|X + Y = n)�

5. 'XbE(1)5µ��Y = [X + 1], Í�[·]�t�JóÐó��Z = X − 4�

(i) �OY�5µ, ¬¼�h
£×ð�5µ, ¢ó
¢�
(ii) �OE(Y )�
(iii) �O��Y ≥ 5, Z�5µ, ¬¼�h
£×ð�5µ, ¢ó
¢�
(iv) �OV ar(Z|Y ≥ 5)�


